The Unique Academy

Fa T

T feoes uftese aren 3Tt Teies uReserer snuTia foreReean Tl ST THE 4. T Tere! I aieserer nemia
FES! TSI,

Read the following passages and respond to the questions that follow each passage. Your responses should be based on
the passages.
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Read the following passage and answer the questions from 1 to 5 :

It is believed that the beginnings of modernity can be traced to the Fall of Constantinople in 1453. The period from the French
Revolution of 1789 till the First World War (1914 - 1918) is believed to be of high modernity. With the First World War, there
began the questioning of the settled assumptions about everything. This is believed to be the beginning of Post-modernity and
the gradual waning of modernity, though both of them continue to coexist uneasily in the world today. Charles Baudelaire is
credited for having coined the term 'modernity' in 1864 in his essay "The Painter of Modern Life' to denote a relationship with
the contemporary time characterised by a rupture with the tradition.

Though the term modernity was coined during the high tide of its existence in the nineteenth century, its various features
can be observed from the fifteenth century onwards. Anthony Giddens has defined modernity as a 'shorthand term for modern
society or Industrial Civilisation'. He believes that it is associated with (1) the idea of the world as open to transformation by
human intervention; (2) a complex of economic institutions, especially industrial production and a market economy; (3) political
institutions including the nation-state and mass democracy. Modernity in Europe involved the spread of capitalism, democracy
and industrial revolution accompanied by a critique of religion. This very process manifested itself with varying intensity in the
colonies. In the history of Afro-Asian countries where certain beginnings of modernity were already visible, imperialism brought
about a rupture and directed the course of their history on a different trajectory of exploitation and the colonial reality. When
cultures confronted each other as colonisers and the colonised, introspection and efforts towards change were inevitable. The
political and cultural hegemony of the colonial power in India brought the Indians face to face with various ideas included in the
cluster of modernity — liberty, equality, fraternity, rationality, rule of law, spirit of enquiry and individualism. This is not to say
that these were completely alien to the Indians. Ideas such as reason and liberty have been a part of the Indian philosophical and
literary discourse at least from the times of Buddha, i.e., the 6th Century B.C.
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Which of the following statements is not true?

(1)  Modernity is believed to have originated in the fifteenth century.
(2)  The concept of modernity was created in the nineteenth century.

(3) Indians were acquainted with modernity even before the colonial period.
(4) None of the above
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What according to Anthony Giddens is not included in the concept of modernity?

(1)  Certain ideas (2)  Certain economic institutions
(3) Certain political ideologies (4) Imperialism
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Read the statements given below carefully and choose the correct option.

a. Certain ideas in the literature during the time of Gautam Buddha were congruent with modernity.
b. Afro-Asian countries were introduced to modernity because of colonialism.

Answer options :

(1) aandb are correct (2) Bothaand b are incorrect

(3) ais correct, b is incorrect (4) ais incorrect, b is correct

4. Y& IR famiad wivm g og ?
(37) nfifer T MY T SITd ARG,
(§) UChT FoqeS WRA MY e ATal, 3 a.
T W ¢
(1) <hdes 3 (2) HIBH
(3) el 3 A (4) <

Which of the following two statements is/are correct?

a. Religious rituals are not said to be modern.

b. It is not that because of the foreign power India did not modernise
Answer options :

(1) Onlya (2) Onlyb

(3) Bothaandb (4) Neitheranorb
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Which of the following statements is true?
(1)  There was absence of democratic modernity in the Afro-Asiatic countries.
(2) Modernity in colonies did not involve spread of capitalism,

(3) Giddens believes that modernity involves the idea that the world cannot change.
(4) None of the above
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Read the following passage and answer the questions from 6 to 10 :

World leaders have recently announced 17 Sustainable Development Goals (SDGs) with 169 associated targets. The goals
and targets are integrated and indivisible, Global leaders have pledged common action and endeavour for such a broad and
universal policy agenda. They have decided to implement the Agenda for the full benefit of all. The world has reaffirmed the
importance of the Universal Declaration of Human Rights, as well as other international laws. The emphasis is given on the
responsibilities of all states, in conformity with the Charter of the United Nations, to respect, protect and promote human rights
and ensuring fundamental freedom for all, without distinction of any kind as to race, colour, sex, language, religion, political or
other opinion, national or social origin, property, birth, disability, etc.

The new goals and targets have come into effect on January 1, 2016 and will guide the decisions to be taken over the next
fifteen years. It is necessary to respect the national policy space for inclusive and sustainable economic growth, in particular for
developing countries from Africa and Asia. People who are vulnerable must be empowered. Those whose needs are reflected
in the development agenda include all children, youth, persons with disabilities, people living with HIV/AIDS, older persons,
indigenous peoples, refugees and internally displaced persons and migrants. The commitment is shown towards ending poverty
in all its forms and dimensions by 2030, SDGs ensure the basic standard of living, end of hunger and achieving food security as
a matter of high priority and to end all forms of malnutrition.

To promote physical and mental health and well-being, and to extend life expectancy for all, we must achieve universal health
coverage and availability of quality healthcare, It is essential to reduce new-born, child and maternal mortality by 2030. SDGs
have promised universal access to sexual and reproductive healthcare services, including for family planning, information and
education. The focus will be to accelerate the pace of progress made in fighting malaria, HIV/AIDS, tuberculosis, hepatitis, Ebola
and other communicable diseases and epidemics.

SDGs aim at building strong economic foundations for all countries. Inclusive and sustainable economic growth is essential for
prosperity. It will be easy if wealth is distributed equally and income inequality is addressed. Nations must work to build dynamic,
sustainable, innovative and people-centred economies, promoting youth employment and women's economic empowerment. All
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countries stand to benefit from having a healthy and well-educated workforce. The vast agenda of SDGs shows a certain direction
of human progress in the next decade and a half. All the countries in the world must work relentlessly to ensure that most of the
goals are attained and the quality of human life is improved all over the globe.
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Which of the following is/are not true?

a. Sustainable Development Goals (SDGs) are applicable only to the developing countries.

b. Goals under SDG are interrelated.
Answer options :

(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neitheranorb
It faem sem ge o vata faen

(31) wEEHTeR g4 & afiE e et IR,
(@) e ayg & TeaHaEh gt qEaTe IR,

T W

(1) ™t 3 SUSK 378 (2) wh o SUST 3T

(3) 3 M & Sl S 37TRd (4) 31 30T § Gt =k 3R
Consider the following statements and select the proper option :

a. Inclusive growth is a pre-condition of economic prosperity.

b. Economic prosperity is a pre-condition of inclusive growth.

Answer options :

(1)  Only ais correct (2) Only b is correct

(3) Bothaand b are correct (4) Both a and b are incorrect
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a. Quality healthcare improves life expectancy.

b. Quality healthcare reduces child mortality.

c. SDGs promise healthcare services.

d. SDGs aim at reduced poverty.

Which of the above statements are true ?

(1) Onlya,bandc (2) Onlya,candd
(3) a,b,candd (4) Onlyb,candd
géio faum s gem ama uar et

(31) A g 3T INAWHT HRIE B Iad faehrmandt vewe 3med.
(9) AT gRE Tadd M0 TEa=d 8 Tcdeh <uITel SeTeer] 38,

W’kﬁ?ﬁﬁ:
(1) h 3 UK 37 (2) wh o UK 3R
(3) 3 3001 & el S 3ATRd (4) =1 3o 9 gt =k IR

Consider the following statements and select the proper option:
a. Human rights and international laws are important for sustainable development.
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b. It is the responsibility of all the states to promote human rights and freedom.
Answer options :

(1)  Only ais true (2) Only bis true
(3) Bothaandb are true (4) Bothaandb are false
10. AU IV St SUR UReSEr WRT ATEd ?
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Which of the following pairs is not a part of the above passage ?
(1)  Health and Nutrition

(2) Human rights and International laws

(3) Infrastructure development and Incentives

(4) Employment and Women empowerment
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Read the following passage and answer the questions from 11 to 15 :

Academics have long argued about what led to the unusually large brain of humans with its capacity for language, abstract
thought and consciousness. Scientists have matched exceptionally wet periods and very dry periods in the East African Rift
Valley to sudden spurts in the evolution of the hominid ancestors of Homo sapiens, which resulted in the evolution of the modern
human brain.

The latest theory suggests it was triggered by the need to adapt to dramatic changes in the local environment of early man. "It
seems modern humans were born from climate change, as they had to deal with rapid switching from famine to feast - and back
again - which drove the appearance of new species with bigger brains and also pushed them out of East Africa into Eurasia and
South Africa," said Professor Mark Maslin of University College, London.
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The Rift Valley is an extensive geological fault marked by mountains, lakes and fertile valleys. Many of the most important
fossil remains of early humans have been unearthed in the region, leading to suggestions that it was the most important place for
the early origins of man.

The study looked at climate change over the past 5 million years. The scientists found that there were relatively short periods
lasting about 2,00,000 years when East Africa became very sensitive to the cyclical changes in the Earth's orbit around the Sun
- known as Milankovitch cycles - which lead to global-scale changes to the climate, such as ice ages.

"Due to these changes in orbit, the climate of East Africa seems to go through extreme oscillations from having huge deep
freshwater lakes surrounded by rich, lush vegetation to extremely arid conditions, like today, of sand dunes in the Rift Valley,"
Professor Maslin said. "These changes resulted in the evolution of a new species with bigger brains, and also forced early humans
to disperse out of East Africa," he said.

The study found that there were three time periods in particular when this kind of climate change corresponded to important
stages in human evolution. The first occurred about 2.6 million years ago when the Rift Valley dwellers were pushed into
southern Africa and a new species called Homo habilis emerged. The second happened about 1.9 million years ago when an
important species called Homo erectus emerged from Africa to colonise much of Asia, while the third occurred about 1 million
years ago when Homo heidelbergensis emerged.

Professor Maslin said that the technique is not accurate enough to deal with the past 1,50,000 years, when Homo sapiens
first evolved, but that it nevertheless could explain the earlier evolutionary transition leading to Homo erectus, which is the first
large-brained hominid with truly human-like skeleton showing a distinctive adolescent
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Select the most logical comment with respect to the passage given.

(1)  Now there is no need for debating over comparatively large size of the human brain as scientists have been able to
delineate reasons for this phenomenon.

(2) Now scientists have some reasons for explaining phenomenon of large size of human brain on the basis of climate
change.

(3)  Scientific community now has all the reasons for explaining phenomenon of comparatively large size of brain on the
basis of climate change.

(4)  Scientists are yet to have accurate technique necessary for finding reasons for large size of human brain in comparison
with the size of their bodies
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Select the appropriate set of hominid species arranged from earliest to modern that are mentioned in the above

passage.
(1)  Homo sapiens, Homo habilis, Homo heidelbergensis, Homo erectus
(2)  Homo sapiens, Homo habilis, Homo erectus, Homo heidelbergensis
(3) Homo erectus, Homo heidelbergensis, Homo habilis, Homo sapiens
(4) Homo habilis, Homo erectus, Homo heidelbergensis, Homo sapiens
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Select the major evidence that is provided by scientists for considering climate change as a reason for triggering

extraordinary growth of brain.

(1)  The climate of East Africa seems to go through extreme oscillations from having huge deep freshwater lakes
surrounded by rich, lush vegetation to extremely arid conditions, like today, of sand dunes triggering growth of
brain of hominids living during the period.

(2)  Using special technique scientists found that the earlier evolutionary transition led to Homo erectus, the first large-
brained hominid with truly human-like skeleton showing a distinctive adolescent growth-spurt.

(3) Scientists were able to match exceptionally wet periods and very dry periods in the East African Rift Valley to
sudden spurts in the evolution of the hominid ancestors of modern man.

(4) Modern humans were born from climate change, as they had to deal with rapid switching from famine to feast - and

back again - which drove the appearance of new species with bigger brains.
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Select the option that logically describes interrelationship between a and b.

a. Milankovitch cycles made the Rift Valley climate go through extreme oscillations of wet and arid conditions over a
period of 2,00,000 years.
b. Hominid ancestors with large brain only could survive in the drastic climatic changes and therefore they emerged as

new species.
Answer options :
(1)  ais the cause that influenced the effect b.
(2) aand b both are the effects of the same cause.
(3) aandb are the independent effects related to the different phenomena.
(4)  bis the cause that influenced the effect a.
TEATI ATEA ATed FEUITATER Y Aie FOagHM SEaTd -1t 311 STATT HRUT &1 JRhiebTehgd Yo
eI WA AT adies TEUToaTest UTeae Uk /& géiosueht fderon/or fae.
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According to Professor Maslin, modern humans were born from climate change, as they had to deal with rapid

switching from famine to feast - and back again — which drove the appearance of new species with bigger brains.
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Select the observation(s) that support(s) Professor Maslin's statement.

a. All members of the existing human races have a large sized brain compared to their body size.
b. Many animal species like dinosaurs that have become extinct, had comparatively smaller brains.
Answer options :

(1) Onlya (2) Onlyb

(3) Bothaandb (4) Neither anor b
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Read the following passage and answer the questions from 16 to 20 :

It is a well-known fact that a few dozen people in history own a Nobel prize in economics. For achieving their world
changing results they all put in long work, Angus Deaton, this year's Nobel winner recounts a different story with respect to
his achievement as he gave importance to his luck. According to him, his father did not die in Second World War as luckily he
contracted TB. In the easy labour market after war, Deaton's father, a coal miner in Scotland, got a job at a civil engineering firm.
He encouraged young Deaton to read books by going against the advice of the rest of his family. Reading books made him enco
very conscious about the role that luck played in the lives of people. He says, "If you re-ran the world, it would be shuffled in a
very different way." He has blended this outlook into his Nobel winning lifetime work. He writes, “Those of us who were lucky
enough to be born in the right countries have a moral obligation to reduce poverty and ill-health in the world."

Deaton's career is focused on understanding how people consume goods and services - a crucial step to achieving social
goals like improved health and well-being and poverty and inequality reduction. He aims to understand why each person makes
choices he or she does. With this focus Deaton has been particularly adept at disentangling the cause of poverty and inequality
from the consequences. For example, in India, he showed that malnutrition was caused by a low income — rather than being
a cause of low income, as some believed. He showed that increasing people's income did lead to higher calorie intake among
the poor. To learn this, Deaton simply looked at the behaviours of individuals who are poor. He did not use aggregate data that
includes people with higher income and flatten out effect.

The Nobel Prize Committee wrote : 'In the 1980s, research development was mostly theoretical, where it was empirical, it
was based on aggregate data from national accounts. This has now changed. Development economics is a flourishing empirical
research field based upon the advanced analysis of data from individual households. Deaton's research has been an important
driving force in this transformation.'

16. faemren snum Haia ARG SaTagiiie e Uil g 19 fwruteh fag &
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T TEAIST BEUR (ks T HOITETE T Al TRUTR SeiehTes hiA hidTd. I STl Alae UTAlYeh fSTeRum
FTE SeA T AT AYTIATHAT HeHId a1 ADTETST gt 3d e ME 9.

(1) S ST SCSauT=a1 THOTHTETS! SElehled hH v ATal 313 SeT & Tshid Suxhl 374,

(2) Wtk AT AREgE Eed A Aiee Tl .

(3) AT e T IR Ao FIRUT=TIHT0 Ereehled A HUIAST Aed hasl.

(4) TefETges Aiee uTiarfyes i e ar=h fag wat.

Choose the most practical true conclusion on the basis of the given statements :

For achieving their world changing results, all Nobel winners put in long work. Angus Deaton, this year's Nobel
winner recounts a different story with respect to his achievement as he gave importance to his luck.

(1)  Deaton is the only Nobel winner who did not work for long to get world changing results.

(2)  Deaton won the Nobel Prize because of his luck only.

(3)  Luck helped Deaton to put in long work like all other Nobel winners.

(4)  Luckily the Nobel Prize Committee selected Deaton.

TIES! e Taa: @1 iEa TS @ [Hoed UHiEigd gaid Sy SRl et

(1) Srea = I o= AT FEET 701 9T ATRi.

(2) <t e afssn fafid o firesd grar ST age <A1 afss Tede aravaTETd! Sieare fee.
(3) e I AfSHH AT S ;S AR AT Y SR USaes e el

(4) e T afssi =T A= F o= fatuTd e AT T areauaddt Sedred foa.
Choose the most appropriate reason from the given options for which Deaton considers himself lucky.
(1)  Deaton's father did not die in the Second World War.

(2) Deaton's father had a regular income and thus he could encourage him to read books.

(3) Deaton's father contracted TB and thus was not sent to the war front.

(4) Deaton's father encouraged him to read books by going against the rest of his family.

e TR foreRTer srelrETdt gEt Teaent aewet Sift/ T SR TE Sted Al /A St fawr
(31) Y& IME0 9 TS AREEN TES,

() TS BrehreAn S At TTd @ araE fageer .

(@) T ki e gafa s adam Frlemor s

() Towmar o 3FRg St woIEE H .

W’i’ﬁﬁi:
(1) Wb & 30 A (2) ® 30 F
(3) ®® S (4) ®w oM T

Select the action(s) of Angus Deaton that directly changed the world view of development economics:
a. Reading books and considering him lucky.
b. Analysing household data of poor people using advanced technique.
c. Observing behaviour of poor individuals related to their choices.
d. Working for reduction of inequality and ill-health.
Answer options :
(1) Onlybanda (2) Onlybandc
(3) Onlyc (4) Onlybandd
(31) BT SfeATdie ARTEr=a1 YfHhaad™ Jvid SFd R Aed T HeTds.
(@) Y Bk Hd IHSAT IS IMhadT HE HU T I S
(%) FUNU BT T Icqamen aiome STl 8 G2 SEfud S0 T Ie 3.
(3) HUUT SHHT HIOMT ITHATET ST H AT T 3.

W’i’ﬁﬁi:
(1) 3 911 &d (2) % & AT &
(3) & oAl wd (4) ®HF IS

Choose the roles of Deaton's skill of disentangling causes from consequences in the context of social problems.
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a. Helped him to become conscious of the role of luck in people's lives.

b. He was able to understand reasons of the choices that poor people make.
c. He was able to establish the fact that low income results in malnutrition.
d. He was able to study interventions introduced for reducing malnutrition.
Answer options :

(1) Allexcepta (2) Onlybandc
(3) Allexceptd (4) Onlycandd

20. SR TRE 9 R FHHl FHoAT Toa: <t i Tareei qul wuamers! Seaq woedn s fHag &
(1) " =Hithean e el Fefi S 1 TE HUATER B8 higd .
(@) S TRie e Fegiat S aioms Sidd I " HUITel Tad K.
(%) forepra SrfasmamEn STUR 39T HOAHE TAH Fearea e w e .
(8) THEATET FITE HUIES Thbrd Arfgd= favayn wwanest safwra mfed= faveyo wor geenfia wa.
W’i’ﬁ?ﬁﬁ:

(1) = owred &d (2) = eal ¥4

(3) o oesdl & (4) wh

Choose the work that Deaton did to fulfil his moral responsibility of reducing poverty and ill-health in the world.
a. Focused on studying poor person's behaviour related to their choices.

b. Gave importance to studying how people's luck affected their choices in their life.

c. Observed choices of individual households for establishing base for development economics.

d. Replaced practice of analysing aggregate data with analysing individual data for studying problems.
Answer options :
(1) Allexceptd (2) Allexceptc
(3) Allexceptb (4) Onlyb
&S IANT AT TATaR NG 21 ° 25 Tg-TeR 3T e ¢
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Read the following passage and answer the questions from 21 to 25 :

In the history of aesthetics there also comes an age of emancipation when the recognition of beauty in things great and
small becomes easy, and when we see it more in the unassuming harmony of common objects than in things startling in their
singularity. So much so, that we have to go through the stages of reaction when in the representation of beauty we try to avoid
everything that is obviously pleasing and that has been crowned by the sanction of convention. We are then tempted in defiance
to exaggerate the commonness of commonplace things, thereby making them aggressively uncommon. To restore harmony we
create the discords which are a feature of all reactions. We already see in the present age, the signs of this aesthetic reaction,
which prove that man has at last come to know that it is only the narrowness of perception which sharply divides the field of his
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aesthetic consciousness into ugliness and beauty. When he has the power to see things detached from self-interest and from the
insistent claims of the lust of the senses, and then alone can he have the true vision of the beauty that is everywhere. Then only
can he see that what is unpleasant to us is not necessarily unbeautiful, but has its beauty in truth. -

When we say that beauty is everywhere we do not mean that the word ugliness should be abolished from our language. To say
so would be as absurd as to say that there is no such thing as untruth. Untruth there certainly is, not in the system of the universe,
but in our power of comprehension, as its negative element. In the same manner there is ugliness in the distorted expression
of beauty in our life and in our art which comes from our imperfect realization of Truth. To a certain extent we can set our life
against the law of truth which is in us and which is in all, and likewise we can give rise to ugliness by going counter to the eternal
law of harmony which is everywhere.

21. A URDER Haid Y SN Haet.
(1) died 9 FHEIAT T BIh Bl (2) Het ME e T
(3) HicaiHewia SARRETd SR = Sl (4) 3TVl SATheATAT THOTHTE FUI HTor
Select the most likely purpose of this passage.
(1) Differentiate between beauty and ugliness.
(2)  Explain qualities of the beautiful things.
(3)  Express personal views about beauty.
(4)  Describe effects of incomplete comprehension.
22. GHTod MNUTHD Ahics TTH AT HEaHHTE TRUTH THSH! Hal Haet.
(1) IRIEN SAh! HIHTER] SIhIuee STaHH IR I <d.
(2) oHhH! T AT T T@UAT= sl d ATal.
(3) YIS GEATEATI - 3Icqa STHUT FEaTdies STBehla] JaT ATehRdTd.
(4) =IH TAH 3T AT SIS e .
Select an action that is not resulted from aesthetic consciousness gained due to person's narrow perceptions.
(1) A vegearian person makes derogatory remarks about a non-vegetarian person.
(2) A person does not care to keep his or her environment clean.
(3) A school principal refuses to admit a child from a low income family.
(4) A person respects every other person unconditionally.
23. Weiftm SR Higaicash Hagn SUETh! ITH Sheht AT 3 SR o adaren Fae wa.
(31) TEHT TSI Jae = fafay IS SRt Tad-e dicaten sfyerhme gETay .
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I W
(1) 31 e ud (2) & 9T wd
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Select the behaviour that indicates concerned person's aesthetic sense has either attained or is in the process of
attaining emancipation.

a. Person incorporates various aspects that are obviously pleasing to all in his or her expression of beauty.

b. Person doesn't get carried away by representations that are praised as beautiful due to sanction of convention,
c. Person makes every effort to enhance his or her power of comprehension for seeing things with out distortion.
Answer options :

(1) Allbuta (2) Allbutb

(3) Allbutc (4)  All the above
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Select the reason(s) for calling the act of abolishing the word ugliness as absurd by the writer of this passage.
a. Things appear ugly to us as a result of imperfect understanding of reality.
b. The filthy places are definitely ugly for everyone.

c. Things represent ugliness to us till we fail to see unassuming harmony among them.
Answer options :

(1) Onlyaandc (2) Onlyaandb

(3) Onlyb (4)  All the above

25. 1 RS SWHTE Higd g A fEUdier sa@en 3 A fooT seee=n wE um=n @ e SeieeutieR
FTFEA TEA SN URUT TR, T VTS STesehel FuTT=an farerren /Ar<h fare =
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Select the statement(s) that confirm(s) the comment, "For writer of this passage, beauty depends on the state of
person's mind and not on the outward features of things that appear to please him or her”.

a. We give rise to ugliness by going counter to the eternal law of harmony which is everywhere.
b. Narrowness of perception sharply divides the field of person's aesthetic consciousness into ugliness and beauty.
c. Person's power to see things detached from self-interest and from the insistent claims of the lust

of the senses, allows him or her to see beauty that is everywhere.
Answer options :
(1)  All the above (2) Onlya
(3) Onlyb (4) Onlyc
&S IaWT ST e SR 26 d 30 TgAT< I o :
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Read the following passage and answer the questions from 26 to 30 :

The Dodo is dead. The passenger pigeon has passed on. But Lonesome George, the iconic Galapagos tortoise whose death
marked the end of his species, is in post-mortem luck.

A scientific expedition has discovered some of his close blood relations alive and well. With careful breeding, biologists now
hope to revive George's species.

Originally there were at least eight species of Galapagos tortoise, scientists now believe. At least three species are now
extinct, including tortoises on Pinta Island. The last one, George, was discovered wandering alone in 1972 and taken into loving
custody. His death, in 2012 at more than 100 years old, was a powerful reminder of the havoc unleashed by humans on delicate
ecosystems worldwide over the last two centuries.

But, now the story of extinct Galdpagos tortoise has taken a hopeful twist.

More than a century ago, it turns out, sailors dumped saddlebacked tortoises they did not need into Banks Bay, near Wolf
Volcano on Isabela Island. Luckily, tortoises can extend their necks above water and float on their backs. Many of them made it
to shore, lumbered across the lava fields and interbred with Isabela's native domed tortoises.

In 2008, scientists tagged and collected blood samples from more than 1,600 tortoises living on the flanks of the volcano.
Back in the laboratory, there was a genetic eurcka: Eighty-nine of the animals were part Floreana — whose full genetic Profile
DNA had been obtained from museum samples.

Some had genes indicating their parents were living purebred Floreana tortoises, hinting that the species may not be extinct.

Seventeen tortoises were shown to have high levels of Pinta DNA. Tortoises can live for more than 150 years, so some of
them may well be George's immediate next of kin.

Last month, scientists went back to find them. Their plan was to capture and separate tortoises with high levels of Pinta and
Floreana DNA, and then breed animals that are genetically closest to the original species.

In a few generations, it should be possible to obtain tortoises with 95 percent of their “lost" ancestral genes, the scientists said.

26. JEE FI6HE Tehed & SIUATETS! SHIVTTN T HRUN Bl ?

(1) = (2) st B
(3) TSI Mea (4) fier
The scientific genetic project started because of the death of
(1) Dodo (2) Passenger Pigeon
(3) Floreana Galapagos (4) Pinta
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As per the passage, which are the extinct animal species?
a. Dodo b. Passenger pigeon
c. Pinta Galapagos d. Floreana Galapagos
Answer options :
(1) Onlya (2) Onlyaandb
(3) Onlya,bandc (4) Onlyd
28. T HIEEHA TAGTANT HIEETULT e HIF Bld ?
(1) @& aH (2) mgg 7H
(3) UEE® =@ (4) urdtelios gue
The native species of tortoise was different from migrated species in having
(1) Long neck (2)  Short neck
(3) Saddled back (4) Domed back
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(1) dfch SITHHEET TH ST (2) fgest =T TvAT gefae
(3) AT HRAIHS (4) w4 smwrgé
Tortoises perished because of
(1) Hot lava of the Wolf Volcano (2) Dumping into the waters by the sailors
(3) Man's interventions (4) Non-breeding
30. ISHE A i IV ThR T SEBH! ?
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(3) sHm® (4) drHAr
George had high levels of genes of
(1) Pinta (2) Floreana
(3) Isabel (4)  Volcano
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Read the following passage and answer the questions from 31 to 35 :

Photochemistry concerns with the study of the effect of radiant energy on chemical reactions, and with the rates and mechanism
by which reactions initiated by light proceed.

Ordinary or thermal reactions are initiated by activation brought about through molecular collisions. It is characteristic of
all such reactions that they can occur spontaneously when the reactions are accompanied by a free energy decrease. However,
photochemical reactions need not always accompany with decrease in the free energy. For a photochemical reaction to occur,
reacting molecules can absorb radiations of only certain wavelength and not all, in the uv-visible region. In nature, many
photo-chemical reations e.g. fading of coloured fabric in sunlight, photosynthesis, etc. take place. In fact, with absorption of a
sufficiently large quantum of radiant energy a molecule may be ruptured. Such absorption of light by an atom or molecule leads
to its excitation, and if the activation is sufficiently great, chemical reaction may result. It is in this manner that absorbed light
can affect the rate of a chemical reaction and frequently bring about chemical changes under conditions where thermal activation
alone would not be effective.

The rate of thermal uncatalyzed reactions at any fixed concentration can be varied only by change of temperature. With
photochemical reactions, however, the rate can be controlled also by varying the intensity of the light used for irradiation. In the
latter reactions, the number of molecules activated depends on the intensity of the light, and hence the concentration of activated
molecules will be proportional to the light intensity to which the reactant is exposed. With sufficiently intense light sources, it is
thus possible to attain reaction rates at ordinary temperatures, which would not result thermally except at considerably elevated
temperatures. Again, since photochemical activation does not depend to any degree on temperature, the rate of activation is
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usually temperature-independent. Any increase in the rate of a photochemical reaction with temperature is due primarily to
thermal reactions, which follow the activation process.

31.

32.

33.

34.

35.
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A photochemical reaction takes place by absorption of

(1)  visible and ultraviolet radiation (2)  heat energy

(3) infrared radiation (4) magnetic energy

WTHIGUh! THITd /0T e/ faem stier g /3mea ?

(31) feores srfufshan & ATOEHTER Sa@e JTEdTd.

(F)  ThRRERES SR 9T BT HIvdrE! TehrsT T (=fEd shar Jal.

(%) FiffsramenreRi=a Ifa W= T@a & SR died=an Aeet e 3.

T I

(1) % A (2) % H AMT *H

(3) Tk & AT H (4) ol wd

Which of the following statement(s) is/are correct ?

a. Thermal reactions are temperature dependent.

b. Rate of photochemical reactions can be controlled by any light used as radiation.
C. The number of activated molecules is proportional to the intensity of the light used as radiation.
Answer options :

(1) Onlya (2) Onlyaandc

(3) Onlybandc (4)  All of the above

TR e TRy SifsRaa AfshereRtoT 3T & ........ HAGT 3.

(1) IR (2) smfiges TR

(3) W& (4) YehmRIT=AT digden
The energy of activation depends upon_ ____in photochemical reaction.

(1)  heat (2)  molecular collision

(3) concentration (4) intensity of light
e, ... 2GR /TRt TErEtes sififsraa sarevon emg

(1) HYET=A avaTdie HIfS3 ™ FBREsd aar &l

(2) BEGNH 9 A= 0T FUTER 100

(3) TAETdS HAffFasH e AFHTE T 290

(4) 3ATS UTHH TSU

In nature, ____is an example of photochemical reaction.
(1)  formation of sodium chloride in sea-water

(2)  conversion of hydrogen and oxygen into water

(3) conversion of atmospheric oxygen into ozone

(4) formation of acid rain

U G e weRvREtier sfuframed g o=t ...

(1) = & (2) dred
(3) TS A (4) wEwd
Certain photochemical reaction involves of the free energy.

(1)  decrease (2) increase
(3) utilization (4) variation

YAt SN ST ITeR STETRA 36 d 40 AT W a0 ¢

ifderaat Tey wiTean fohan arge SRt A foen Ty srfewde e Ye¥H T HE T, T STHIe=

FHREETEM 3R, I HE AT 39 38 AT it T ST FIAHI Bieh TEATHR IS A Iehd I AT @I
TRV g fUeTdT. SHIrET qHAT SN[ 318 T RIS hEIe e qHT ST TS e
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G HAUCATS guiae saal. faH it fohan =< 9g wvame 3w gifue giq 18l aredfash qrgar Jra=
AT, TEHIE, YATIATE AT TS ST g1 TH{UeT 3T . SRS = INT0 TEd T8 T d o> Ied. gu e
TRUS = 3T TS 9Tes hiul 7Rt Wies!-WTeel Tus[d 1 Uit aredqarged Teiet.

T AT, A RIHR KU 3T A 3 ey == o TevE JUumed aififer S =Te; Uless! ST ATE T ST Usi-e adl
T TATHT ST 3T ATEY. ST AT 1ard) /Staraandt anfor enfifes feamdt s e aqe st snfr =mges gu
e TSI

STegT SHTIET BT S ES=AT feRIETd ShIveATE! SIS Tgasitaul s hidl deal TH-RYSTdT & Ush Tad s
HER M =T TShIT AT STV WMedties Ffiemem 92 Feg T STfesdfamit STafEs] ST Hre STIeATS v
U M .

TmTfes i amffer srqifaraas safewaeT In firesd 2 ARG Je 3R, Seal A=l qedel WY ST,
TETAT ATCHEHAETS] 39 WErd cTees! S0l S TG Sy STaTs SRTdl ST cIi=amies STIeTa §d arge Mt
feq @rTdTa. FreaTsft AmHAT SHvET= TEiie ITH gd IV, FeqrEt shi Hofte ? BIBUHAT ThHIH STl ST T
Tfifeh W] STIeA] TaSTd BRI ool AU UGUaTd 86 HH I 0 d 3Tedl. 1 Si=y el 3o
A F T AT AT VAT, X0 FIUT= 3T NSTer HREH I HOAT=AT AT, d g afesuafash

Read the following passage and answer the questions from 36 to 40 :

Secularism is not about good and bad people, but about an unflinching law that won't brook public demonstrations of
intolerance. Secularism is just to make sure that ordinary people can lead ordinary lives without fearing what tomorrow might
bring. When the law is on your side you don't need eyes in the back of your head.

It is the law, not irreligiousness, or shutting up the church, that makes us secular. In fact, Henry VIII was hardly secular
because he flouted the Pope, divorced and re-married. If the Vatican did not approve of his behaviour, it could go fly a kite. From
this historical act a rather simplistic idea grew that secularism was about separating church from state.

Religious persecution continued in Europe, not because the church said smell, go, hunt and kill, but because it was now the
king who issued such diktats, The unquestionable authority of the priests was now replaced by that of the king.

It is only with democracy that secularism truly appeared. This is not because we suddenly became good, and traded in our
cruel hearts for loving ones. What made the real difference was that there were now legal penalties for communal and religious
violence.

Secularism becomes a habit when the law works systematically, and without exception, against sectarian intolerance. It is this
legal intolerance of intolerance that teaches us to be civil and not moral science in a classroom, nor sweet and inconstant political
talk. Though it might still hurt to tolerate and make room for other communities, it would hurt a lot more to break the law.

Across time, intolerance is spurred by social and economic insecurity. When jobs are scarce, when one's self-esteem has got
a hiding, we start blaming other communities and see all kinds of evil in them. How is this best combated, with words or with
deed ? Recall post-partition's hot and heady mood, and yet how Nehru succeeded in keeping religious passions from taking over
our just born democracy. He succeeded, in large measure, because he promised jobs, dams and steel mills. He hardly talked of
pure tolerance, or even secularism; he just did it.

If secularism and pseudo-secularism are bandied about freely, and abusively, today it is because partisans on both sides are
clueless on how to develop our economy. This is bipartisanship for you, Indian style!

36. ST T I g H
(1) 3Tean 2= &1 efwre e g
(2) e B B YHRuE TS STEe WiHad gl
(3) 33T B sEdleh Tei=al JRIBRI=N e Hodl.
(4) IR = ST TR T TSI Bl
The author argues that
(1)  Henry VIII was a secular king.
(2)  Henry VIII was pretending to be a secular king.
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(3) Henry VIII defied the authority of the Vatican church.
(4)  Vatican church dominated Henry VIII.

s 3 PR T W o 7

(31) &0 VI et wmifeeg g

(F) oHfRueIar qafad 3Te hde TaH™ BIhiR T8 o GadTH= TS SA] Ieht (%
T I

(1) Sk 3 (2) B o

(3) <=t 3 s (4) <= A

Which of the following two statements is/are correct ?

a. Henry VIII was against Christianity.

b. Secularism is related only to the ordinary people so that they can lead ordinary lives.
Answer options :

(1) Onlya (2) Onlyb

(3) Bothaandb (4) Neitheranorb

STEHRAT A .......... FAUHED ENfHieh b T Bl

(31) =T TSI

(¥) AT gI=A1 TSI
() DBIHIMEIAT TEATIAR
(8) 3, & 301 &% A1 N IPRaean g wiamehies Teadns

T W

(1) & A (2) ®Hh S

(3) Wb A AT § (4) TOSUH HvAe! ATE
According to the author, there was religious prosecution in Europe

a. during the rule of the church.

b. during the regime of Henry VIIIL.

c. after the establishment of the democratic system.

d. during all the three regimes mentioned in options a, b and c.

Answer options :

(1) Onlya (2) Onlyd

(3) Onlyaandb (4) None of the above
FEHTEAT HA EHTRUSTAT TEUTSt

(1) == 3nfor TSTHET THHBTITET e 0]

(2) FEHEAH THIEE FCTHEATHN FHSH! As] FEhH

(3) i Bes =i

(4) HiHH Thel A

According to the author, secularism means

(1)  separating church from the state

(2) tolerant attitude of the majority community towards minorities

(3) stopping religious persecution

(4) None of the above

s A R T W o 7

(31) hIvTCATEl Ut ST ST fashmd haT wHUFaT= & WIE ATel TEvH gieal STRfad 3.
(F)  JE&A BBV ThIceh TSR H ATIETdT UTeauTiesi 3TTfeh faehEmet Tedtiad .
IR SW

(1) % 3 (2) B

(3) <= 3 amfor @ (4) e A

Which of the following two statements is/are correct?

a. Since no party knows how to develop our economy both the parties are \insecure.

b. Nehru instead of practising secularism during the post-partition hot and heady \mood promoted economic

@3
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development.
Answer options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neitheranorb

ULt AR ATed TeR STEMRA 41 9 45 T9Ae ST e

BlaTd | Tiq WA Gehdl Tods fea BremeRmd aind 3R, e evre feudte o sy, waten e . seEE
el formm o, AT Toa: = qHSTT 1 fede o s,

gfgamel wgsa i e, dl o quiqel STeeld SEOR ATEL. o e fsiehd Ie UTee Crehle. I3 @ieh shiesg,
IS TEUIATA. T BIeh T, FAYT FEard. Meft weurdies, Ht wrer g i A, @ awe g sfe. g
1 . FlgaH AT T 3T SEUR A8 1 T = foa I e wiedt fHHi % gTEdl.

AT qEF A1 s H 3TN 39 S 3R I AT ? THASARN o S IA GE ks ATed, o o foar i
399 b 3TEd, 1 ¥d fahofl 3mur 1S Wil e, anequE, Reusme, feveme, @i, wor, wEE, =W,
SHISTTON, TSI, ST, WHHRE AT J6 Hearea] TRl &Td 7 2T, 7 gaaT 4¢ JaUR Bieh WA Hehdtea
g fershm sl TEuSE @ .

T T FISIS I I A1 [T=REdi drearaar SHard. ey JaEHR STareq Y 3Ted. IR Thdid ol
ferma ATl 17 SIS T HIEIST NIl ST S9vaTa 88 ¢ =g MesvR ATel, e Tfed M fesum e,
T YHHE A9V 1A HaeT Uies. SR TeUS gH9e] Hhigedl difeid. Bl ¢d g8 Y -Hcd-edre daiiiiv e
THSH HUT .

JATAT HISE! ST BT T, 3US =S T Ced WS od. TTHHESH, TSN, U, Td-ifddre, Shivdal & 37,
fISATd A0 g9 9 T6H 76 i, fenfswnft @rered, wimed, vured Ty, sifgs 9 ST gese ey, IF &
TR a5 2. Yo wehel faami=a et 94 fo=R 3w UEa st mefi-feaswea sheden fasm wdte.
STEATE@IS AT g e, M=l Y Jrard 37ef fEudt 3R, d9 SR 18, F9 9 FeEes, FHveat=t 1o 1.

fries foam 9 31t gt 9=h 31t faTa Taveehar 31e. ALY T Tohl, IaT(TB! Tohl, T Tohl, 3Mesd Tehl. Ffesar
Tl IS W WIS AR SEvThdl 3R, T I HE AT TEL 3T, TUSTEES IT J hedehed ATdl & T8, THTSST
FE Y HAT 5B, & TBHS SIS BN T rel =R e STe 77 511 foaR e SI=n =R 98 2l5s, 3 31
Tt @ s e’ 3@ e G TEe.

41. Wi oo 3 faumith Sivm @ g /3T ?
(31) "M fad reue Sufhes f&d
(@) STl 3R & 3Teard df gigardt

W’i’éﬁﬁi:
(1) ®® A (2) ®H
(3) TR IS (4) <= éa

42. YEio 3 faemitent Sivme TR g ?
(37) ST ST HIOMR T HLOTTIET AT,
(§) WRATE HEHl U 9 Hiehul, Qe Eqdrga- .

W’i’éﬁﬁi:
(1) ®® A (2) ®HH
(3) TR IS (4) <= éa

43. @ fedem 3 faemitdh Svm s og ?
(37) e MSTEATET 318 T =T foeam o= WS e,
(&) glgardt a3 SIvm=hEl Tt Hid Tl
T I
(1) ®® A (2) ®H
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(3) @t A A (4) T AR
44. R oo I faumitd SHom g o ?

(31) <am fedsean g T wevem e,

(d) T hdcs TEhMEI-T fHedd.

T SW ¢

(1) &% (2) wFd

(3) Qg 3 T (4) @
45. IaT=ATRT vitdek 1.

(1) @u gfgard (2) wHEYH

(3) vl et (4) e wm

Read the following passage and answer the questions from 46 to 50 :

Two musicians dwelling in one house gave lessons to pupils on the piano, and the man next door, who objected to his peace
being disturbed in this way, took his revenge by banging on tin cans, and otherwise making things unpleasant for the musicians. |
do not know what the law said on the subject. It may be admitted that the annoyances were equal in effect, but they were not the
same in motive. In the one case, the motive was the reasonable one of earning an honest living; there was no deliberate intention
of being offensive to the neighbors. In the other case, the motive was admittedly to make a demonstration against the neighbours.
What is to be done in such circumstances? It is not an offence to play the piano in one's own house even for a living. On the other
hand, it is hard, especially if you don't like music, or perhaps even more if you do, to hear the scales going on, on the piano next
door, all day.

The question of motive does not seem to be relevant. If my neighbour makes noises which render my life intolerable, it is
no answer to say that he makes them for a living and without intending to destroy my peace. He does destroy my peace and it is
no comfort to be assured that he does not mean to. Hazlitt insisted that a man may play the trombone in his own house all day if
he took reasonable measures to limit the annoyance to his neighbours; but Hazlitt has probably never lived beside a trombone.
I find my argument is leading me to the side of the tin can gentleman, and I don't want it to do that, for my sympathies are with
the musicians. And yet -

Well, let us avoid a definite conclusion altogether and leave the incident to make us generally a little more sensitive about the
feelings of our neighbours. They cannot expect us never to play the piano; but the amenities of neighbourliness require that we
should mutually avoid being a nuisance to each other as much as we can.

46. Fill the blank space with the best among the given options :
The probability is strong that the musicians ..............
(1)  were earning their living by playing the piano.
(2)  did not know they were causing discomfort to their neighbour.
(3) knew they were causing discomfort to their neighbour.
(4)  did not care about annoying their neighbour.
47. Fill in the blank space with the best among the given options :

Meenne or perhaps even more if you do ...... " in the last sentence of the first paragraph suggests that ............
(1)  the piano is not being played well (2)  the piano is being played well
(3) itis hard to hear the scales going on (4) one can't sit listening to the piano all day

48. Which of the following statements issupported by the passage?
(1)  Hazlitt liked listening to the trombone.
(2)  Hazlitt did not like listening to the trombone.
(3)  Hazlitt had little idea about the loudness of the trombone.
(4)  The annoyance caused by the trombone can be limited.
49. Fill in the blank space with the best among the given options :
The writer is suggesting that ...................
(1)  the musicians were wrong in creating a disturbance for the neighbour.
(2)  the neighbour was wrong in beating the tin can.
(3) motive is immaterial not the concern.
(4)  we should never do things that inconvenience our neighbours.
50. Fill in the blank space with the best among the given alternatives :
"It is no comfort to be assured that he does not mean to" can be re-written as ..........
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51.

52.

(1) Itis a comfort to be assured that he means to.

(2)  The assurance does not help.

(3)  The assurance is not honest.

(4) Comfort cannot be assured.

T W Hiiged 9 WA FST 31T AT 3 DI Wik I-a1 ATEeh W Sies 3. B
U 3AVATEAT WRT 378 fehelt @iieh WTawedies 2

T 1 - T AT Gkl THTRR T AT Tehl ST9 HIY T HAHIE 3718,

T2 2 — BRI AT A &%hes d1e 9ig Hiet 3117,

U ITR <UIT=AT Heid a2d 1 9 2 = 3fua 9uia seom=n gt fae .

(1) <8 a2 U e qReft 312, o1 hIvde! a2 Ushehd TRH ATET.

(2) U AT Tehehe T TR,

(3) < a2 usmha firem qief A,

(4) T TH Tehe TWH 377, UV A2 H Tshe Y T4l

Each play kit is packed in a separate box and these small boxes are again packed in the transport boxes. How many
transport boxes of play kits will fit into the cargo area of the lorry ?

Fact 1 - Each transport box is cubical in shape and one of its sides is 50 centimetres in length.
Fact. 2 - Cargo area of the lorry is thirty square metres.

Select the appropriate option that describes the role of facts 1 and 2 with respect to answering the question asked.
Answer options :

(1)  Both facts together are sufficient, but neither fact alone is sufficient.

(2)  Each fact alone is sufficient.

(3) Both facts together are not sufficient.

(4) Fact one alone is sufficient, but fact two alone is not sufficient.
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Study the diagram given below and understand the operations done by operators given in small boxes. On the basis
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of that encoded meaning select the appropriate option to replace the question mark.
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(1) 10,10 2) 7,8

(3) 4,7 (4) 6,10

A person wants to offer lotus flowers to three temples that were around the pond. As he was about to pluck the
flowers he heard a voice of the pond deity. She announced following conditions for plucking flowers. “Before going
to each temple you should wash all the flowers that you have in the pond. Remember that when you wash flowers

in this pond their quantity is doubled. You should offer equal number of flowers to each deity without wasting any
flower. There should not be any flower left with you when you leave the last temple. You are allowed to pluck flowers

€3

only once.”

Selth the minimum number of flowers the person should pluck to begin with and the minimum number flowers
that he offers to each deity.

(1) 10,10 2 7.8

3) 4,7 4 6,10
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1. =l 3fafsrE fee sea. IV. Td gided et 3.
qafeft I

(1) ek ey 18 (2) & e 1o

(3) s 1foham 1o (4) 1V FTesar g4 fsnd He
Statements :

All teachers are doctors, All doctors are engineers.
All engineers are students. If all above statements are true then which of the following conclusions is/are true ?
Conclusions :

L. Some students are teachers. II.  All doctors are students.

III.  Some engineers are teachers. IV.  All doctors are teachers.

Answer options :

(1)  Only conclusion I follows (2)  Only conclusion II follows

(3)  Either conclusion I or II follows (4)  Except IV, all the conclusions follow

Ten S 5 W 1992 HHER ST, Teieh Aeare] dl (aeue UgEet Sal. 7 deead Wieanl el gaant
FrEea™ @ faede arga A, ufgeen gt arefeaEmdEa qt ferdt det famde g I e ?

(1) 4 (2) 2

(3) 3 (4) 6

Ravi was born on Monday 5th May, 1992. He goes for a movie on his every birthday. However, he does not go for
movie if his birthday comes on Tuesday or Wednesday. How many times does he not go for a movie until his 10
birthday ?

1 4 2 2

3 3 @4 o

aﬁwmma@.a@\aﬁ%a@a atred. g o WS s, ot ST et 3. @ g™ ekt gITEuT
LRICRECE

(1) 3 (2) =

(3) %g (4) oM o Wigd SERST &

Ali is brother of Bala. Kallu is father of Ali. Damu is brother of Nila. Nila is daughter of Bala. Then select the option
that indicates Damu's paternal uncle.

(1) Al (2) Bala

(3) Kallu (4)  One needs to know Bala's sex

WY [ AEfie ITEQTETS T 11 AE3 HTEt Tehdleh Qo0 TR, 1 Ugdren 31+ &1 9 foameesn gymamet feeean ar
tETaeht A vEiE e

=Y 1 E B

CED 248

FEIH 4316

BEGI 5419

CAAJ 0877

DHEBF 96432

T DECG =?

(1) 2485 (2) 2584
(3) 2548 (4) 5428

Some code numbers are given in Column II for the words of Column I, After studying them choose the correct
alternative for the word given,

Column 1 Column IT
CED 248

FEIH 4316
BEGI 5419
CAAJ 0877
DHEBF 96432
Then DECG = ?
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Answer options :

(1) 2485 (2) 2584

(3) 2548 (4) 5428

Aifoseheal 5 241 TAMTETE! feoean waiay difchehgeesn watd 3tea St fae.

iy 2

Select the most logically appropriate image from the options given for the Sth place of the series.

/v 2

S
S

T, W, fie, 9% anfor v @ o smra enfor @ 3R, o), R, TR 30T TR = uTSIia WL, W A1 ShEHG d9 TETT
3T AT TAHUT FTeRTeAT UTSIT TETard. FH 3 et 9 T, 9 9 T 9 3 A . Tt a e R/, 3R], 9
AT . 3% 9 U 3 O 9 A .

e v gehren vt e
(1) S & 3R (2) U A IR
(3) T S oM (4) <> A= M

Eli, Janu, Mila, Deu and Eku are friends and live in padas Ker, Ter, Ner, Ser and Mer, but not necessarily in that
order. Each one lives in a different pada. Janu and Mila are not from Ter. Janu and Eku are not from Ker and Ner.
Eli and Mila are not from Ner, Ser and Mer. Deu and Eku are not from Ter and Mer.

Select false statement from options given :

(1) Januis from Ser (2) Eliis from Ter

(3) Milais from Ker (4) Deu is from Ner

K o1 TR foa@ g Usheh 36 ATET= 31T SIT0T SIeareh A g 120 fafern omg. o Tgradies saehiae Uent fagaiadiat 3o
geaiter fasieTa hesen 360 Varsit 720 STTed. el TSaTeTel aahel 36 A graad. K-Igrl gsaes 9:48 € 96 graad
IS W A 9 e Fieaerar 39 SRETauIRt §E&a HaeT.

(1) 100 (2) 120

(3) 110 (4) 90
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62.

63.

On planet K, a day as a unit consists of 36 hours and each hour is divided into 120 minutes. For persons on this
planet the degrees around a point are 720 instead of 360 that are noted on the earth. The dial of their clock shows
36 hours. Select the number that indicates the number of degrees between the hour and minute hands of K-planet
clock when time is 9:48.

(1) 100 (2) 120

(3) 110 4 90

Yt Hifgdt g fesean ygae S g stua waa fFae

A BT < ARSITET 9faHeT 9 ARl SiveT 3R,

=T BT ¢ S ftemet 9 Aol Slive IR,

HHE B Q¥ AT ST 9 TG oo 378,

ARSI BT ¥ AT Sraquiet o hE-T=a Uieaie! 312,

HIA! BT ¢ HHET<T IRl § S IHST 372,

RIS BT < AT St 9 hie-=aT Uil 31TR.

YRG! IV <X FoFTH TehT SR ITT To oeTal 3118 7

(1) haes wTH (2) hde AR

(3) WIS T ARISK gt (4) T fodiieh ual T

Study the information given and select the appropriate option as an answer to the question

Benin is to the west of Nigeria and to the south of Niger.

Ghana is to the west of Benin and to the south of Mali.

Cameroon is to the south of Benin and to the east of Mali.

Nigeria is to the south of Mali and to the west of Cameroon.

Mali is to the west of Cameroon and to the north of Benin.

Niger is to the south of Mali and to the west of Cameroon.

Which of the following nations is located in both north and east of at least one another nation ?

Answer options :

(1)  Only Mali (2)  Only Niger

(3) Both Mali and Niger (4) None of the above three

X Ul AEgIdies Hga Fod TR, A1 AR Sgatehealat U1 Sgaicishealtos HiwTl ATat. TesIHTot SaSti o e =
o1 IS el TRECRIYN 0 Sl Ad ATEl. a1 FEATd hiUTTE! SHhial TehIUeT ATk o5l & Sohe TTal o Uehet
o fagaTemETT SHee A, fafae saxhide g2 faee Twey sramm augrean Femmmm D € sk son saeht/
AN B s Ik o IR g e,

O <t a1g L, A v 71t o e 3. <t D <t o H =i s fivt 3. G 9 E 1 29 g 3iea; Ukt M = o @ G =
fosmeme 3 @ K 2 T E = fomeme e, O & O <t /=n Siiagaeneft Y FiF Q @ R @ 39 Yo Siga & T graedt
& Y =1 T sna. 0 = f&n D =t e, E /@ G = /=i Siiedneft SR, P 3 G 9 D a1 2 §HE

gt IR
(1) ®SHEMAQ (2) %k M 9T R
(3) ®H QAR (4) MES 3= Hivlt TTE

X is a joint family of some community. In this community polyandry or polygamy is not allowed. Marrying a sibling
or to a direct descendant of self and siblings is forbidden. In this family no person is married more than once and
no child is born out of wedlock. Study the relations between different persons and choose the option that indicates
person(s) with whom D can marry according to community rules.

O is mother of L, who is married to V, is sister of D's mother H. G and E have two children; M who is of the same
sex as that of G, and Kwho is of the same sex as that of E. O and O's spouse Y, have two children, Q and R, who are
of the same sex as that to Y. O is the same sex that of D. E is G's spouse. P is the father of two children, G and D who
are of different sexes.

(1) OnlyMorQ (2) OnlyMorR

(3) OnlyQorR (4)  No one other than M

3, F ST TSI TAGAUVT Teh 2Teht STIRA 12, 15 S0t 20 arema Wit Wi fohan firmdt 3. verrar aght & anifor &
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TSI TERAR TRl TUATH TRH HesT ST 31 TeTea Hgea ekl Rerndt shivame geara host o feredt arart 2rht
qui e fRerdion 38 ?

(1) 10 (2) 20

(3) 30 (4) 40

Taps, A, B and C independently fill or empty a tank in 12, 15 and. 20 hours respectively. If simultaneously B and C
fill and A empties the tank, in how many hours will the tank be completely filled ?

(1) 10 2) 20

(3) 30 4) 40

g fasean smmTaia «< 3 forg “‘aman’” @ ST Tekd 3R, et O3 e e’ = s, © 2 foeg e
o s, Q. 7 foe ‘o’ o stmEndt @ N T S WEr an SIeEndl anRs SR, SR Wit & Sa @
TATRIETEA ST IV ST 350 2

2 OBRBNRMBQ BNBRCBIQ NNl BO BB N3 3 ?

q'q'f?ﬂ?:?ﬁ:
(1) =& (2) =T
(3) W@ (4) o

In the following sequence ®  as stands for ""run", (13 stands for "walk”, ©  stands for "sit”, & stands for "stop"
and /P stand for "stand up'. If the sequence is continued, which instruction will come in place of the question mark ?
2 OBRBNRMBIQ BNBRCBIQ NNl BO BB N3 3 ?

(1) sit (2) walk

(3) standup (4) stop

P &1 UREITh TGN qehal STTE SATUT TTeR ShIE! Ueeh TUNEYIEh T T 3TEd. IT ST 0T SRESCHTSHIO!

(\v%?ﬁsra

d

A

faedt =&

(1) (2)

(3) (4)

Paper sheet P is transparent and some elements are drawn on it with opaque colours. It is then folded three times

@D
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as shown by arrows in a given order, Select the option that it would look like after the final fold.

- First Fold
1

A

Third Fold

P =D
& Second Fold

(1) (2)

(3) (4)

66. 659 q 5 AfEw! ATeA MR 5 TEE Al T HAETE 3. T 3 Y6 9 2 Aiget e o9l afud fordt
TR TIR AT A5 ?
(1) 300 (2) 275

(3) 250 (4) 200
A five-member committee is to be formed from the group comprising of 6 men and 5 women. In how many different
ways can the committee be formed with 3 men and 2 women ?

(1) 300 2) 275
(3) 250 4) 200
67. SUTIERITAT TTETATS! AMURGeH! Sfshar TuTest 1w Rerrean <ieRdia sRuamandt sterTe farer. adesitera T ufshash .
W
:
ATNV — (D) — VINA—> (2)— VTMA
! !
® W
] ‘
CTNV
l
CTMA
DLC—>@—D—[]
(1) GKL (2) KDG
(3) GKD (4) MDK

Study the operation system that is used for group of letters and select the group of letters to fill in the empty box. Encircled
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numbers are operators.

IJW

|
ATNV — (1) — VINA— (2)— VTMA
| |
® mw
|

CTNV

|

CTMA
DLG—=>Q—D—[ ]

(1) GKL (2) KDG

(3) GKD (4) MDK

4+2-4X9+12=-22

(1) + 3mfr - (2) x amfor +

(3) - 3T + (4) + 3mfor +

Select the option that gives appropriate pair of mathematical signs that need to be interchanged to make the

following numerical expression correct.
4+2-4x9 12--22

(1) +and- (2) xand +

(3) -and + (4) +and+

gz g faam a = @R snenfia 3 Fsed foe stea. Feeata stua vl s wat= fae
faem

1. WSAdlo 3@ Hd UdmEl, SH=ATehe TETeh! a8+ T8I, caT<dTehs dla=Teh! aTa-a! ATald.

2. SATSATHS ST T8 ATEId IT=ATehs b di-eTehl dTed 3T&d.

freentd

I. SIVTET Teh=aTehe FLETeh! o =Tl 313M gl aTgd ATald.

I1. ST TEh=ATehs ek CIaTeh! dTgd 3TTad.

Tt S
(1) W fsd 1 gorma 3R, (2) W sy 11 gETa 3R,
(3) <re frepd gEma aTTea. (4) e frsehd gETa .

Below are given two true statements followed by two conclusions based on them. Choose the option that describes
the conclusion(s) appropriately.

Statements :
1. All residents of the village, who do not own four wheelers, do not have two wheelers either,
2. Those who do not have two wheelers have only three wheelers
Conclusions :
L. No villager has both, the four wheeler and the three wheeler.
II.  Some villagers have only two wheelers.
Answer options :
(1)  Only conclusion I follows (2)  Only conclusion II follows
(3) Both the conclusions follow (4)  None of the conclusions follow
JeATeRge SR I vt et
JEWQR :?::?20YQFR
(1) LCYOT, MAOHP (2) LYOQR, MHPSS
(3) LCYOQ, PHOXM (4) LYOQR, OYQFR
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Choose the correct option to replace the question mark,
JEWQR : ?::? OYQFR

(1) LCYOT, MAOHP (2) LYOQR, MHPSS

(3) LCYOQ, PHOXM (4) LYOQR, OYQFR

3, 4, 5, 6, 7 ATUh! UehTAch! Wich ShIUTAE! TR 37eh UshaTdl aTU&A fehal TR 37eh! f9T= TEAT 99R gatd ?
(1) 120 (2) 124

(3) 130 (4) 140

Using any four digits at a time out of 3, 4, 5, 6, 7 only once, how many different numbers can be made?
(1) 120 2) 124

(3) 130 (4) 140

HIEAEA ATHAT FT ARSI RS AT, T el Feie e Teish Hhiedl Feieal e 3.

(1) 1:4 (2) 1:5

(3) 1:3 (4) 1:2

Accompanying figure shows area covered by tiles. Area of each white tile is twice the area of a black tile. Then select
the option that indicates the ratio of total black area to the area covered by all the white tiles.

‘,_.,__.
|

.,

(1) 1:4 (2) 1:5
(3) 1:3 (4) 1:2
THATUThd I ferETTa ST SUEUT qaiy Hast

2, 4, 3.5, 6.5, 5.0, 9.0, 6.5, 12.5, 8.0, 14, .....
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(1) 3.5 (2) 4

(3) 5.0 (4) 12.5
Select the option that indicates the number that is odd in the series
2,4, 3-5, 6.5, 5.0,9:0,6-5, 12.5, 8:0, 14, ...

(1) 35 2 4

3) 5.0 4) 125
YR Aifeschedl 5 241 ARIATE! qehgeean 3tera e e,

LSS Y

(1) b (2)
(3) (4) >

Select the logically appropriate image for the Sth place for the following series :

SR

(1) b (2)

The Unique Academy
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75. U@t Aigviidie Nt STRIETS! qehertd fare faet

(1) (2) @

@ g@

(3) (4)

Select the logical set of images for the empty places in the following arrangement

(1) (2) @

(3)

Frotaemar snfor yemenia aoa
U9sHATSR 76 A 80
76. qHEAT ARG Bich HEghl & UHOX A1 ATETETS! £t & gl TGUUIHETIe =Aarearedl Sevie ure- hed ATa.

W Sawht U T,
(1) R IGEA M= Hi=l Aifed! TG0 FHl HOATAT HHHEES! JEGeH HfUH=ATEd drar=ad Ele.
(2) AESAH AT IZEA HUMAT SIS ThR TS hid &I
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(3) el DA TR SevarE Heft e degl e B STHG TR SHeisEde Je¥ fodid
@3,
(4) YWl 9 STqd HRIHHAMGG -l 9 gd1 YGUU A=A i ST HEATSTed JNTEw BUATHTS! BT
In your area people are not caring for court orders related to noise pollution or air pollution under the pretext of
culture and traditions. As a lay person you will
(1)  keep on informing authorities that are in charge of minimizing pollution, about the violation of
court orders.
(2)  keep on filing complaints against persons violating court orders.
(3)  keep on spreading messages related with health problems because of pollution whenever you get
a chance to meet groups of people.
(4)  start assisting people in general to become aware of health problems related to noise and air
pollution through virtual and real events,
T Teh! TEAT SIAUh T HINYh U HIH Il IEE. TFal et hosedl HRTUIAT SNYUR Higen Senfieh e
feaem fdfian T+8 Te TMeR TeheuTl Y@ FEUH R UTEd STIET. 1 UeheuTd quedl RGeSt 3 hids
YN e STFee UGHTETS! W HEd TR, Teh EN—EINILeR qrat foet uaeht fiesem amelt swft ww it wea oTR.
et Tt wnTult qut hedt AT TR qRETT BRTh BT SEIUaRETe gEITd ZTehuaTel gmeht fad faeet o
(1) = foenfeiiergd BV a3 TSTATETE! Shral Hig=Tel o =1,
(2) = TSt Rl 9 gwrah =t wEd a1 feenfiiaed Iuh wriarE He.
(3) Toenfofien ge=a ATTeRiheRa M Hoarl 9 fae SR e fHesauarh fomd .
(4) = foenfefion foe @enem SR vew THeT 9 @ I0f HUaEE! R SR Hed CUaTHTS! foeam ST
SIET .
You are working as a teacher and researcher in one institute. You are heading a research project that is funded by
a large industrial group on the basis of your proposal. Many junior researchers are working under you for their
doctoral degrees in this project. One female researcher asks you to help her get the degree. She threatens to put you
behind bars under the pretext of sexual harassment if you don't fulfil her demand. You will
(1)  go on leave for few months to avoid harassment from this student.
(2)  discuss the matter with seniors and colleagues and then take viable action against this student.
(3) request the student to work with another guide and get a degree as per her wish.
(4) arrange for counselling of this student for helping her to understand the importance of her research work and have
the patience needed to get it done.

T Rregiferentdl st enfor qreaTehe P1e1n gemean FEEHER Suean HoiAT T S SR hoodl Biehedl
TETEhEA TERR AT 3T, ¢ UTheh ACUEEA, Sfosd d THE Feaidies 3. T I SHTEATIH A1 o1 Tawn feeses
(1) YIGHHT A=A HHT THN AMesd GRES hvdTH] fordt e,

(2) Doarel=a1 faUuTd e HREaTal U T IS FTEATIATAT Tl hie.

(3) PO d3d SIS HAETS! T ST HEA T TehHehial AT STE HAST R HUS.

(4) SA-IMEHT TSI TS LA TTSHITTS! HRIT ST e 1 07 gl Hewa [ ST 9

for131e wehesRrE 3Tt foshfia et Hea Tne.
You are a district collector and receive a complaint under the RTE Act from a group of parents who admitted
their children to a private school. These parents are from minorities, dalits and poor families. Though the school

management admitted these children to their school, other children are bullying them constantly. As a result these
young children are not ready to attend the school. You will,
(1)  request the parents to put their children in a government school.
(2) request a school management to take stern action against the bullies.
(3)  during your spare time organise workshops for school children to assist them to respect each
other unconditionally.
(4) organise workshops for teachers and parents for helping them to understand the importance of
RTE Act with the help of NGOs and develop unconditional respect towards each other.
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79.

80.

ura feedreen géa gt grim ATHiuT feshTun e feTet HevarEEdl SIet SR, Weshd STHAHT Rt ated T

ART® fALEH TeEareal STaeUAIETs! AIauTl fHaret sTsm et SrTet. qaen i g1 faamas aee we

SATOT T IS THT SHTEATER HEl o T [GHS1. IR Tdl WIeA TSl B! gielt o SITEUTH Shivigl Tegd. Tehvit

THEATER qFETHT THSTS ehi f 71 JMbet Hob ST ol I UTeehiell o1 Ol U3 SIUaTaré! ate urgd 3ied. dt 90

ot vaTe TSH ATEL. GEE O T A AR st EeAT qRETRT A1 GH 1 el AYIETa HiguErsit STt

SR A SR USvaT fodt i 3. qF,

(1) TTESR=IHT SIS a1 GoTe! s Hvar= M1 fordl e AT Tad:@1 9 FETs! Tagd 7 =d1 awui=a] !
M h1a] ST SIS A1 Hed] el v ISR SRS HFIGRH HUs.

(2) ToETean ARt HIVCTE TR Tel A% T FEUH a1 Siaied T a1 Bi<! ¢ qTevams | o

(3) TS AT 3T G ITEAM Tral Mah=i3f Siesd 9 1 3w H |Iugd Joi1 319 Quare! fomdt
FHEA B T foe S,

(4) TEIHZIMT AATEIH HEA TSGR Fe 3T HHATHT JoT= ITseh T B3 SATSTd o=l hessil Huaardy
FHTHTR qEEAS &9 TS BT,

You are visiting a friend who is living in the remote rural place during a five-day vacation. While taking a stroll

you came across a residential ashram school managed by the MLA of the area. Your friend is an employee of some

other institution by the same MLA. School is away from the main road and from the village dwellings. You go to
the school premises and find that six children are sitting in the verandah, all other rooms are locked and no one

is around. On inquiry you find that they are students of the school and are waiting for their parents to take them

home. They are there without food for two days. They are from Korku tribe that is docile by nature, and lacks cour-

age to visit villagers and request for help. Your friend requests you to leave the children to their fate and leave the

premises immediately as he is worried about his job. You would

(1)  call and request all villagers to take care of these children and guide a group of =young persons from the village
to take initiative for inviting some media persons to make a story of the situation without involving you and your
friend.

(2)  collect villagers, request them to see the plight of the children and help them with food till their parents come to take
them to avoid any trouble relating to employment of your friend.

(3) talk to the villagers and request them to give food by giving them needed amount and forget the incident as you want
to enjoy your vacation.

(4)  guide the villagers to pressurize all school persons to join their duties immediately for taking care of the children till
their parents take them home.

TSGR FVATHSHATA TaTl QUATETS! TGl TUTHAeet Tl el ST, SVardshATeal ST Ieigriean Jeastt

TUTRR 1:256 3718, qFeTel Jav e oT9lt Hidt oTom 3.

que idie gden el w frneaift @i s untten sEwe FoAR UhEd Tede UHaerRnlt A

TSB! GEATd hest. Thigt fareneai-t = fereneaiforeg TR hest STTUT hguqa Tuea=l Ttehsft FRuES! 3T 3.

eI TR fosTuarTa Ushmran Tnerot hatuT AT 3. vl

(1) TATRER I 0 Mg M Feriiotdd Fiyg e il Sewerd- e wWial & Hoar fomd
ETUCH

(2) Y U= ST ST wieheil AT forameat=an St qumeeft swarl famdt wue.

(3) TRmwETd Tddedn Teren faeneatan fivy wwrn faeneaia oo e, e fefzo aisers snfir wdar <
FHUITAT qHAT geRI= AR L.

(4) S T TS, THEK THIAl 9147e 0T <ensft Ul JIvamEnd! oiers.

You are appearing for a competitive examination, for admitting students to post-graduate courses, The ratio of

seats to that of applicants is 1 : 256. You have high hopes of getting selected.

Suddenly some students writing the examination in your class started arguing with the supervisor when she spotted
them using unfair means. Some other students complained against these students and the head of the center came
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to investigate the problem. You find it very difficult to concentrate on writing answers. You will

(1)  leave the examination hall and protest against noise and cheating and request the management to cancel the exami-
nation.

(2)  request the investigator to do inquiry outside the examination hall and interrogate students for cheating.

(3) join the students who started protesting against the group that was engaged in unfair means and stop writing exami-
nation and demand for your right to have silence.

(4)  just remain calm, concentrate on reading the paper and wait for the completion of interrogation.

HEZ U 1T - 2016

11- 2 12- 4 13- 3 14- 1 15-1 16- 3 17- 4 18- 2 19-1 20- 3

21-3 22- 4 23-1 24-1 25-1 26- 4 27- 2 28- 4 29-3 30-1

35-

31-1 32-2 33-4 34-3 36-3 37- 4 38-2 39-4 40- 4

41- 3 42 -1 43- 3 44 - 4 45-2 46-3 47- 1 48- 3 49- 3 50- 2

57 -

51-3 52-1 53-2 54- 4 55-3 56- 4 58-1 59-1 60 -1

61 - 62 - 69 -

63-3 64-3 65-4 66-4 67-3 68 - 4 70 - 1

71-1 72- 1 73- 4 74 - 4 75-2 76 - 4 77- 2 78 - 4 79-1 80- 2






